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401 AlEHIZL 2 0HY| 260,540 130,720 129,820
01 Al&H| 260,000 130,000 130,000
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O FZZX JIBtAlE &X
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O ZHANEE B & 22
30,000,000 = 1Al 30,000
O HdUHE QLEEEIE AIE2 A
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Hm: 2BAY TS
el pR A (S5 &)
SA - BB B () - MM - BES Ol &t o San HmEET
O BEH MXgI| =HE Ot
100& = 1,00000 = 20H 2 200
O dEH dHuaE 7Y 500,000& = 14 500
O U=A L F4+3 AHEX 2
70,000 * 48fA « 200 A 560
O PETZ FAZ ARSE 7
20,000& = 10& 63l 1,200
O 2272 A2 HABE 7Y
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0 33234l 81,680
O #EH dJg
2,000,000& = 128 » 204 48,000
O BEE UHY HAALY SNLLE L
sAEZE 400,000& = 1238 * 204 9,600
O B iptv AEE
10,000& = 128 » 2004 240
O dEH gy sl AEEZ
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O BEH LetEs L FAX AIEZ2
50,0003 = 1238 * 204 1,200
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O 7= A &I
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O REF=S dA2 2etdE & FAX ALEZ
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O A& &Y s Xl 12,735
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O #BE 293 L 22017 +TAA 29 2,000
SY43 H=2 =ZEZAM
700,000& = 18] = 2004 1,400
S0 AMIE =EFZA
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= HEHINZE HEN 20,000 20,000 0
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04 DIZFHALAISE E X 20,000 0 20,000
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20,000,000& * 14l 20,000
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201 £B-2dH| 20,000 10,000 10,000
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Sl RAMRE U B2 CEEEED
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101 @14 Hl 13,046 11,759 1,287
04 JIZHHZ2XNEE S 13,046 11,759 1,287
O 20t NE2stM 2el
66,9003 * 3H » 60 12,042
O NS L N2 ==
66,9003 * 3H » 5¢ 1,004
201 Let249] 20,782 19,702 1,080
01 At 22l 20,782 19,702 1,080
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O 235t et I+ MZ 10,0008 * 4002 4,000
O 28 =2l BEaM g2t
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O & NEZaM e 2108
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Al 3,150
01 A& HI 21,000 6,000 15,000
[ =8 £8c 2d8U=R 2=l
15,000,000 * 14! 15,000
= 10,500
< 2,250




AN MOSSat22
M NE2M 22 & Su2st ds2d
Sl RAMRE U B2 CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 2,250
038 £8c 2dUR sl2el
6,000,000& = 14 6,000
= 4,200
< 900
Al 900
402 BI2FX=201 M 300,000 406,000 A 106,000
= 210,000
< 45,000
Al 45,000
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01 At 22l 16,443 16,443 0
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Al 40,000
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O olisgm4+2 22 24
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Al 40,000
307 212t0| & 50,000 50,000 0
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O 8Usdadzasd izl K&
50,000,000& * 14! 50,000
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02 2224 H| 24,360 26,424 N 2,064
[0 A& &Hl s X Hl 24,360
O MEANE BHAE SA2
24,360,000 = 14! 24,360
= 12,180
= 3,654
Al 8,526
2Z2E=2 0|0 tet =4 3,000,000 0 3,000,000
Fag 1,500,000
= 450,000
Al 1,050,000
403 XX SRS K20| & 3,000,000 0 3,000,000
= 1,500,000
& 450,000
Al 1,050,000
02 2| 2S0 et R=2=EAIS Y 3,000,000 0 3,000,000
0 Z&2=2 0|oko|tet =4
3,000,000,000& = 1Al 3,000,000
Fag 1,500,000
= 450,000
Al 1,050,000
2Z2E=2 0|0ttt =4 322,376 0 322,376
401 Al HI L £ 0HHI 322,376 0 322,376
01 Al&EH| 320,000 0 320,000
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20,000,000 = 14l 20,000
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O Z2E=20l0FJILict AIZEZ2 XA
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= 3,000
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= 2,986
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= 16,000
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02 X2 A E X (0| THS) 147,000 136,000 11,000
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